
iz’u&i= dh ;kstuk2024&2025 

 

d{kk & XII 

fo"k; & jlk;u foKku     

vof/k & 3 ?k.Vs 15  feuV        iw.kkZad& 56 
 

1- mn~ns'; gsrqvadHkkj& 

Ø-l-a mn~ns'; vadHkkj izfr'kr 

1- Kku 17 30 

2- vocks/k  17 30 

3- Kkuksi;ksx 11 20 

4- dkS'ky 5.5 10 

5- fo’ys"k.k 5.5 10 

;ksx 56 100 % 
 

2- iz'uksa ds izdkjokjvadHkkj& 

Ø-la- iz'uksa dk izdkj iz'uksa dh 

la[;k 

vad 

izfriz'u 

dqyvad izfr'kr 

¼vadks dk½ 

izfr'kr 

¼iz'uksa 

dk½ 

laHkkfor 

le; 

1- cgqfodYikRed 18 ½ 09 16.07 33.96 20 

2- fjDrLFkku 10 ½ 05 08.93 18.87 10 

3- vfry?kwÙkjkRed 10 1 10 17.86 18.87 15 

4- y?kwÙkjkRed 10 1½ 15 26.79 18.87 75 

5- nh?kZmÙkjkRed (3)* 3 09 16.07 05.66 45 

6- fuca/kkRed (2)* 4 08 14.29 03.77 30 

 ;ksx 53  56 100 100 195 

feuV 

fodYi ;kstuk % [k.M ^l* ,oa ^n* esa gSa         

3-     fo"k; oLrq dk vadHkkj&          
  

Ø-l-a fo"k; oLrq vadHkj izfr'kr 

1 foy;u 6 10.71 

2 oS|qr jlk;u  6 10.71 

3 jklk;fud cyxfrdh  6 10.71 

4 d ,oa f Cy‚d ds rRo 5 8.93 

5 milgla;kstu ;kSfxd  5 8.93 

6 gSyks,Ydsu ,oa gSyks,jhu 6 10.71 

7 ,Ydksgy] Qhu‚y ,oa ÃFkj  6 10.71 

8 ,fYMgkbM] dhVksu ,oa dkcksZfDlfyd vEy  7 12.50 

9 ,ehu  5 8.93 

10 tSo&v.kq 4 7.14 

;ksx 56 100 



iz'u&i= CY;wfizUV 2024&2025 

d{kk & XII       fo"k; %& jlk;u foKku     le;% 03%?kaVs 15 feuV                   iw.kkZad& 56 
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la- 

mÌs'; bdkbZ@ 

mibdkbZ 

Kku vocks/k Kkuksi;ksx dkS'ky  fo’ys"k.k ;ksx 
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1 foy;u 
- - 1(1) 1½(1) - - - - 1(1) 1½(1) - - - - - - - - ½(1)   -  - ½(1) -  -   6(6) 

2 oS|qr jlk;u  ½(1) - - - - 4(1)* - - 1(1) - - 2(-)* - - - - - - ½(1)   -  2(-)* - -  -   6(4) 

3 jklk;fud cyxfrdh  ½(1) ½(1) - - - - - ½(1) 1(1) - - - ½(1) ½(1) 1(1) 1½(1) - - -   -  - - -  -   6(8) 

4 d ,oa f Cy‚d ds rRo ½(1) ½(1) 1(1) - - - - - - 1½(1) - - - - - - - - -   -  - - -  1½(1)   5(5) 

5 milgla;kstu ;kSfxd  - ½(1) 1(1) - - - - - - 1½(1) - - - - - - - - -   1½(1)  - ½(1) -  -   5(5) 

6 gSyks,Ydsu ,oa 

gSyks,jhu 
- - - - - - - - - - 3(-)* - ½(2) ½(1) - - 3(1)* - -   1½(1)  - - -  -   6(5) 

7 ,Ydksgy] Qhu‚y ,oa 

ÃFkj  
- - - - - - - - - 1½(1) 3(1)* - - ½(1) - - 3(-)* - ½(1)   -  - ½(1) -  -   6(5) 

8 ,fYMgkbM] dhVksu 

,oa dkcksZfDlfyd 

vEy  

½(2) - - - - 4(1)* - - 1(1) - - - ½(1) - - - - 4(-)* -   -  - - ½(1)  -   7(6) 

9 ,ehu  - - - - 3(-)* - ½(1) - - - 3(1)* - - - 1(1) - - - ½(1)   -  - - -  -   5(4) 

10 tSo&v.kq 
- ½(1) - - - - - - - - - - - - 1(1) - - - ½(1)   -  - - ½(1)  1½(1)   4(5) 

;ksx 2½(5) 2(4) 3(3) 1½(1)  8(2) ½(1) ½(1) 4(4) 6(4) 6(2)  2(4) 1½(3) 3(3) 1½(1) 3(1)  2½(5)   3(2)   1½(3) 1(2)  3(2)   56(53) 

loZ;ksx 17(15) 17(12) 11(12) 5½(7) 5½(7) 56(53) 

  

fodYiksa dh ;kstuk %& [k.M ^l* ,oa ^n* esa izR;sd esa ,d vkarfjd fodYi gS uksV%&dks"Bd ds ckgj dh la[;k ^vadksa* dh rFkk vanj dh la[;k ^iz'uksa* ds |ksrd gSA  

 

;g Cyw fizaV dsoy ekWMy iz’u i= dk gS] cksMZ dk iz’u i= fu/kkZfjr ikB~;Øe ,oa vad ;kstukuqlkj gh gksxkA 

 



ekè;fed f'k{kk cksMZ jktLFkku] vtesj 

e‚My ç'u i= ekè;fed ijh{kk 2025 

fo"k;% jlk;u foKku ¼ CHEMISTRY ½ 

d{kk& 12 

le;% 3 ?kaVs 15 feuV           iw.kZd% 56   

ijh{kkÆFk;ksa ds fy, lkekU; funsZ'k% 

GENERAL INSTRUCTION about Exams: chemistry  

1- ijh{kkFkÊ loZçFke vius ç'u i= ij ukekad vfuok;Zr% fy[ksaA  

Candidate must write first his/her Roll No- on the question paper compulsorily. 

2- lHkh ç'u djus vfuok;Z gSA 

All the questions are compulsory. 

3- çR;sd ç'u dk mÙkj nh xÃ mÙkj iqfLrdk es gh fy[ksaA 

 Write the answer to each question in the given answer book only. 

4- ftu ç'uksa es vkUrfjd [k.M gS] mu lHkh ds mÙkj ,d lkFk gh fy[ksaA 

For questions having more than one part, the answers to those parts are to be written together in continuity. 

5- ç'u dk mÙkj fy[kus ls iwoZ ç'u dk Øekad vo'; fy[ksaA 

Write down the serial number of the question before attempting it. 

6- ç'u i= ds fgUnh o vaxzsth :ikUrj.k esa fdlh çdkj dh =qfV@vUrj@fojksèkkHkkl gksus ij fgUnh Hkk"kk 

ds ç'u dks gh lgÈ ekusaA 

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the question of 
Hindi version should be treated valid. 

7- ç'u Øekad 14 ls 18 es vkUrfjd fodYi gSA 

There are internal choices in Question No. 14 to18 . 

  



[k.M & v 

SECTION- A 

1- cgqfodYikRed ç'u  

¼I ls XVIII½% fuEu ç'uksa ds mÙkj dk lgh fodYi p;u dj mÙkj iqfLrdk esa fyf[k,A 

Multiple Choice Questions  

Choose the correct option to the following questions answer from multiple choice question- (i to xviii) and write it 
in given answers book. 

¼i½ tyh; foy;u esa foys; ds iw.kZ fo;kstu ds fy, oksaV gkWQ dkjd ¼i½ ds     ½ 

    vf/kdre eku okyk ;kSfxd gS& 

   

 ¼v½ KCl                                           ¼c½ NaCl 
  

 ¼l½ K2SO4                    ¼n½ MgSO4 
 The Compound having the maximum value of von't Hoff factor 
  ¼i½ for complete dissociation of solute in aqueous solution is 
   
  ¼A½ KCl                                               ¼B½ NaCl 
  
 ¼C½ K2SO4                       ¼D½ MgSO4 

 

 ¼ii½ 20 xzke nzO;eku okys foy;u esa ,fFkyhu XykbdkWy dk eksy va'k D;k gS &   ½ 

  

 ¼v½ 0-022           ¼c½  0-054 
  

 ¼l½  0-068                       ¼n½ 0-090  
  

 What is the mole fraction of ethylene glycol in a solution having a  
  mass of 20 gms. 
 ¼A½  0.022                                           ¼B½ 0.054  
 ¼C½  0.068                       ¼D½ 0.090 
 

 ¼iii½  fuEufyf[kr esa ls dkSu fo|qr jklk;fud lsy dh Js.kh esa ugha vkrk gS &   ½ 

 

 ¼v½ oksfYVd lSy     ¼c½  QksVksoksfYVd lSy 
  

 ¼l½  bysDVªksykbfVd lSy              ¼n½ bZ/ku lSy  
 

 Which of the following does not come under the category of  
 electrochemical cell – 
  

 ¼A½  Voltaic Cell                                  ¼B½ Photo voltaic Cell 
 ¼C½   Electrolytic Cell              ¼D½ Fuel Cell 
 

 ¼iv½  fo|qr vi?kVuh pkydksa dh pkydrk fuEufyf[kr ds dkj.k gksrh gS&    ½ 
 

 ¼v½ eqä xfr'khy bysDVªksuksa dk izokg   ¼c½  vk;uksa dh xfr  
 ¼l½  bysDVªksuks dh xfr    ¼n½ ugha dgk tk ldrk gS 



  

  Conductivity of Electrolytic Conductors is due to the following :- 

 ¼A½ Flow of free moving electrons   ¼B½  Movements of Ions  
 ¼C½  Speed of electrons               ¼D½ Cannot be Said 

 

 ¼v½ vfHkdedZd dh izkjfEHkd lkUnzrk dks nksxquk djus ij bldh t½ vk/kh gks tkrh gSA   ½ 
  

 ¼v½ izFke dksVh
                                                    

¼c½ 'kwU; dksfV 
 ¼l½ f}rh; dksfV              ¼n½ r`rh; dksfV 
 

 By doubling the initial concentration of a reagent, its t½ become half. The Order of this reaction will be - 
 ¼A½ First Order 

          ¼B½ Zero Order  
 ¼C½ Second Order         ¼D½ third Order  
 

¼vi½ 'kwU; dksfV vfHkfØ;k dk mnkgj.k gS &       ½ 

¼v½
   

H2+I2        2HI              ¼c½  2HI    Au     H2+I2                 

         

¼l½ ,LVj dk {kkjh; tyvi?kVu     ¼n½ C2H4(g) + H2 (g)  C2H6   (g) 
  
 In the Process of electrolysis, what happens at the cathode :- 

 ¼v½
   

H2+I2        2HI              ¼c½  2HI    Au     H2+I2                 

         

¼l½ Alkaline hydrolysis of ester         ¼n½ C2H4(g) + H2 (g)  C2H6   (g) 
 

¼vii½ fuEu esa dkSu lokZf/kd vkWDlhdj.k voLFkk iznf'kZr dj ldrk gS&    ½ 

 ¼v½ Sc                             ¼c½ Fe 

 ¼l½ Zn                                                ¼n½ Mn 
  

Which of the following  can show highest oxidation state :- 
¼A½  Sc                                                ¼B½ Fe 
¼C½  Zn                                                ¼D½ Mn 

 

¼viii½ ladqy [M(en)2(C2O4)]Cl esa /kkrq M dh milgla;kstu la[;k vkSj  

     vkWDlhdj.k la[;k dk ;ksx gS %&         ½ 

 ¼v½ 9                              ¼c½ 6 
 ¼l½ 7                                                  ¼n½ 8 

The Sum of coordination number and oxidation number of metal (M) in the complex [M(en)2(C2O4)]Cl is 
¼A½  9                                                ¼B½ 6 
¼C½  7                                                ¼D½ 8 
 

¼ix½ fuEufyf[kr  esa ls  dkSulk ;kSfxd CH3 CHCl2 dk lgh uke gS&     ½ 
 

¼v½ 1]2&MkbZDyksjks,Fksu               ¼c½ ,fFkyhu MkbZDyksjkbM 

¼l½  bFkkbfyMhu DyksjkbM                 ¼n½ folhuy&MkbZDyksjkbM 

 

Which of the following is the correct name of the compound  
 CH3-CHCl2 
 

¼A½  1,2-Dichloroethane                   ¼B½ Ethylene dichloride 



¼C½  Ethylidene chloride                   ¼D½ Vic-dichloride  

 

(x) HCl ds lkFk çkFkfed ,Ydksg‚y dh Dyk sjks,Ydsu çfrfØ;k esa mRizjsd gksrk gS%&   ½ 

¼v½ yky QksLQksjl                   ¼c½ lkafær H₂So4 

¼l½ futZy ZnCl2                     ¼n½ ikbjhfMu 
 

What is the catalyst in the chloroalkane reaction of primary alcohol 

 with HCl 

(A) Red Phospheres                    (B) Con H2So4 

(C)Anhydrous ZnCl2                     (D) Pyridine 

¼xi½ lSfyflfyd vEy ds ,flfVyhdj.k ls cuk ;kSfxd gS &      ½ 

¼v½ lsykWy                ¼c½ ,sfLifju 

¼l½ fifØd vEy                  ¼n½ iSjkflVkeksy 

The compound formed by the acetylation of salicylic acid is - 

(A) Salot        (B) Aspirin 

(C) Picric acid                          (D) Paracetamol 

¼xii½ Qhu‚y dks lkaæ HNO3/ H₂SO₄ feJ.k ls mipkfjr djus ij fuEufyf[kr  

     esa ls D;k çkIr gksrk gS          ½ 

¼v½       ¼c½         

                                                         

¼l½        ¼n½ mijksDr esa ls dksbZ ugha 

Which of the following is obtained when phenol is treated with concentrated  

HNO3/ H₂S04 mixture –             OH 

¼A½      ¼B½         

                                                         

¼C½        ¼D½ None of the above 



 
(xiii½ ,d dkcZu ijek.kq ;qä dkcksZfDlfyd vEy gS%&       ½ 
 

¼v½ lkbfVªd vEy                     ¼c½ ,lhVhd vEy  

 

¼l½ QkfeZd vEy                      ¼n½ fljdk  

A Corboxylic Acid  containing a single carbon atom is  

(A) Citric  Acid                                 (B) Acetic Acid  

(C) Formic Acid              (D) Vinegar  

¼xiv½ nkyphuh ls izkIr dkSulk ;kSfxd :fpdj lqxa/k nsrk gS &     ½ 
 

¼v½fluSesfYMgkbM                     ¼c½ lsfyfly ,fYMgkbM 

 

¼l½ osusfyu      ¼n½ mi;qZä esa ls dksbZ ugha  

Which compound gives pleasment smell  in cinnamon is :- 

(A) Cinnamaldehyde                           (B) Salycylic aldehyde 

(C)  Vanillin                           (D) None of the Above  

¼xv½ dhVksu rc curs gS tcfd &          ½ 
 

¼v½izkFkfed ,Ydksgy dk vkWDlhdj.k gksrk gSA                    

¼c½ f}rh;d ,Ydksgy dk vkWDlhdj.k gksrk gSA 

¼l½ r`rh;d ,Ydksgy dk fogkbMªkstuhdj.k gksrk gSA      

¼n½ izkFkfed ,Ydksgy dk fogkbMªkstuhdj.k gksrk gSA  

 Ketones formed when - 

(A)Primary Alcohal is oxidised                           

(B) Secondary Alcohal is oxidised                           

(C) Tertiary  Alcohal Undergoes dehydrogenation                           

(D) Primary Alcohal  Undergo dehydrogenation  

¼xvi½ tyh; foy;u esa esfFky izfrLFkkfir ,ehuksa ds {kkjh; izcyrk dk lgh Øe gksxk%&  ½ 
 

¼v½ (CH3)2NH > CH3.NH2 > (CH3)3N  



¼c½ (CH3)3N > CH3.NH2 > (CH3)2NH  

¼l½ (CH3)3N > (CH3)2.NH > CH3.NH2     

¼n½ mi;qZä esa ls dksbZ ugha  
 

The Correct Order of the basic Strength of methye substituted Amines in  aquesous solution will be:- 

(A) (CH3)2NH > CH3.NH2 > (CH3)3N)  

(B) (CH3)3N > CH3.NH2 > (CH3)2NH              

(C) (CH3)3N > (CH3)2.NH > CH3.NH2 

(D) None of the Above  

¼xvii½ fdlh uke dh vfHkfØ;k }kjk ,ekbM dks ,ehu esa ifjofrZr fd;k tk ldrk gS&  ½ 
 

¼v½ ifdZu vfHkfØ;k                  ¼c½ Dyslsu vfHkfØ;k   

¼l½ gkWQesu vfHkfØ;k                ¼n½ ls.Msses;j vfHkfØ;k   

 Amide can be converted in to Amine by the reaction called – 

(A)Perkin Reaction              (B) Claisen Reaction                            

(C)Hoffmann Recation       (D) Sendemaiyer Reaction  

(xvii½ fuEu fyf[kr esa ls dkSu TohVj vk;u cukus  esa leFkZ gS &      ½  

¼v½ CH3COOH     ¼c½ NH₂CH₂COOH 

¼l½ CH₃ CH2NH₂     ¼n½ CH₃ NO2  

Which of the following is capable of forming Zwitterions:-  

¼A½ CH3COOH     ¼B½ NH₂CH₂COOH  

¼C½ CH₃ CH2NH₂     ¼D½ CH₃ NO2  

2- fjä LFkkuksa dh iwÆr dhft, %& ¼I ls VI½ 

Fill In the blanks : - 

(i) fdlh vfHkfØ;k ds osx fu;e O;tad esa ç;qä lkærkvksa ds ?kkarkdksa dk ;ksx]   

ml vfHkfØ;k dh ------------------------------- dgykrh gSA         ½ 

The sum of the exponents of the concentration of the rate Law expression of a reaction Called............ . 

(ii) f}rh; dksfV vfHkfØ;k ds osx fLFkjkad dh bdkÃ ------------------- gksrh gSA      ½ 

The unit of the rate constant of second order reaction is ................... . 

(iii) b{kqq 'kdZjk ¼lqØksl½ dk çfrykseu ---------------------------- vfHkfØ;k dk mnkgj.k gSA     ½ 

Example of Inverse reaction of cane sugar (sucrose) is ....................... . 



(iv)  laØe.k èkkrqvksa dh d.ku ,UFkSYih ds eku ------------------- gksrs gSA       ½ 

   The Enthalpy of Atomization of transition metals is ..................... . 

(v) [Ni (CN)4]-2 ladqy dh T;kfefr -------------- gS   ½ 

Geometry of [Ni (CN)4]-2 complex is ………………… . 

(vi) vfHkfØ;k iw.kZ djks             ½ 

 CH3CH2Br + Na I                             +        

Complete the reaction  

CH3CH2Br + Na I                    +   

(vii) ,Ydksgy dk lkekU; lw= --------------- gSA          ½ 

The General formula of Alcohol is ................... . 

(viii) dkcksZfuy ;kSfxdksa esa ----------------------- lewg mifLFkr gksrk gSA      ½  

....................... Group is present in carbonyl compounds . 

(ix) foVkfeu&C dh deh ls --------------------- jksx gksrk gSA        ½ 

The disease caused by deficiency of vitamin C is .................... . 

(x) çksVhu esa ------------------------------ caèk mifLFkr gksrk gSA         ½ 

............... Bonds are present in Proteins. 

3- vfry?kwÙkjkRed iz'u % ¼I ls X½ 

¼fuEu ç'uksa ds mÙkj ,d 'kCn ;k ,d iafä es nhft,½ 

Very Short Answer type Questions : 

(Answer the following question in one word or one line) 
 

(i) dPps vke dks lkaæ yo.kh; foy;u esa j[ks tkus ij D;k gksrk gS \     1 

What happens when raw mangoes are kept in concentrated saline aquous solutions ? 

(ii) ijklj.k nkc dh ifjHkk"kk fyf[k,A          1 

Define sxqOsmotic Pressure .  

(iii) D;k ge CuSO4 ds foy;u dk yksgs ds ik= esa Hk.Mkj.k dj ldrs gSA le>kb;s \   1 

Can we store CuSO4 solution in an Iron vessel ? 

(iv) fdlh vfHkfØ;k ds fy, osx fLFkjkad dk eku S-I gS rks vfHkfØ;k dh dksfV D;k gksxh \  1  

If the value of Rate constant for a reaction is S-I then what will be the order of reaction? 

(v) vfHkfØ;k ds osx ij mRçsjd dh mifLFkfr ds çHkko dks le>kb;sA      1 

Explain the effect of the presence of a catalyst on the rate of reactions .  

(vi) ysaFksukbM Js.kh dh lkekU; v‚Dlhdj.k voLFkk crkb,A       1 

 What is the general oxidation state of Lanthanide series . 

(vii) [Cr (H₂O)4Br2½Cl] dk vk;uu leko;oh lw= fy[kksA       1 



Write the ionic compound formula of [Cr (H₂O)4Br2½Cl . 

(viii) ,flfVd vEy] QkÆed vEy dh rqyuk esa nqcZy D;ksa gksrk gS le>kb,A     1 

Why Acetic Acid is a weaker acid than formic Acid ? explain. 

(ix) fuEu fyf[kr ;kSfxdksa dks muds c<+rs gq, {kkjh; lkeF;Z esa O;ofLFkr djks     1 

C2H5NH2,  NH3,  C6H5NH2  

Arrange the following compounds in increasing alkaline strength C2H5NH2, NH3, C6H5NH2  

(x) D;k gksrk gS tc Xywdksl] Br2 ty ls vfHkfØ;k djrk gS]jklk;fud lehdj.k nhft,\   1 

What happens when glucose react with Br₂ water ? Give chemical reaction. 

[k.M & c 
 

SECTION-B 
 

y?kwÙkjkRed iz'u & ¼mÙkj lhek yxHkx 50 'kCn½ 

Short answer type questions - (Answer limit about 50 words) 
 

4. ijklj.k dh ifjHkk"kk fyf[k,A leqæh ty ds foyo.khdj.k esa ç;qä fofèk dk uke crkb,A  1½ 

Write the definition of osmosis. write the name of the process used in desalination of sea water. 

 5. ,fFkyhu Xykbdksy dk 35% ¼V@V½ foy;u okguksa ds batu dks B.Mk djus ds dke  

vkrk gS] blesa ty dk vk;ru feyhyhVj esa Kkr dhft,A      1½ 

35% (v/v) solution of ethylene glycol is used to cool the engine of vehicles . Find the volume of  

water in mililitres in it . 

 6. n'kkZb, fd çFke dksfV dh vfHkfØ;k esa 99.9% vfHkfØ;k iw.kZ gksus esa yxk le; 

 ¼ty2½ dk 10 xquk gksrk gS\           1½ 

 Show that in a first order reaction the time taken for 99.9% of the reaction to be completed is 

10 time of ¼ty2½ . 

7. Zn, Cd vkSj Hg rRoksa dks laØe.k rRo ugÈ ekuk tkrk gS] dkj.k nhft, \    1½ 

Why are the elements Zn, Cd and Hg are not considered as transition elements ? 

8. ysaFksukbM vkdqapu dh rqyuk esa ,d rRo ls nwljs rRo ds chp ,fDVuk;M vkdqapu  

  vfèkd gksrk gSA le>kb,A           1½ 

Actinoid contraction is more frequent between elements than Lanthanoid contraction, Explain it.  

9. fuEufyf[kr ds IUPAC uke fyf[k, \         1½ 

 ¼v½ [Cu (H20)4]2+  

   (c)   [Co(NH3)6] Br 

     (l)  [ [Fe (CN)6]3- 

 

Write IUPAC Names of the following  

 ¼A½ [Cu (H20)4]2+ 



    (B)   [Co(NH3)6] Br 

   (C)  [ [Fe (CN)6]3- 

10. fuEufyf[kr milgla;kstu lÙkk esa èkkrqvksa ds v‚Dlhdj.k vad dk mYys[k djks &  1½ 

¼v½ [Pt Cl4]2-  

¼c½  [Cr(NH3)3 Cl2]  

¼l½ K3[Fe(CN)6] 

Mention the oxidation number of metals in the following coordination compounds - 

¼A½ [Pt Cl4]2- 

¼B½ [Cr(NH3)3 Cl2] 

¼C½K3[Fe(CN)6] 

11. fuEufyf[kr jklk;fud vfHkfØ;kvksa dks iw.kZ dhft, ,oa mRikn crkb,%&    1½ 

(v) CH3−CH2−Cl+KOH  (एल्कोहॉली)→ उत्पाद 

(c) R−CH=CH2+HBr       परॉक्साइड−−−−−→उत्पाद 

Complete the following chemical reaction and mention their products  

(A) CH3−CH2−Cl+KOH  (एल्कोहॉली)→ उत्पाद 

(B) R−CH=CH2+HBr       परॉक्साइड−−−−−→उत्पाद 

12.  ¼v½ ,sFksu‚y ds futZyhdj.k ls ,Fkhu cuus dh fØ;kfofèk crkb,\    1½ 

 ¼c½ Xywdksl dks ,sFksu‚y esa ifjoÆrr djus okys ,Utkbe dk uke crkb,\  

 (A)  Explain the reaction mechanism of Ethene from dehydration of Ethanol  

 (B)  Name the enzyme that converts glucose in to Ethanol. 

13.  ¼v½ foVkfeu A rFkk foVkfeu ¼B½ dh deh ls gksus okys jksxksa ds uke fy[kksA   1½ 

 ¼c½ 'kdZjk ds vkèkkj ij D.N.A. ,oa R.N.A. esa vUrj fyf[k, \  

 

 (A) Name the diseases caused by deficiency of vitamin A and Vitamin B . 

 (B) Write the differences between D.N.A. and R.N.A. based on sugar . 

[k.M & l 

SECTION-C 

nh?kZmÙkjkRed iz'u & ¼mÙkj lhek yxHkx 100 'kCn½  

Long answer type questions - (Answer limit about 100 words) 

14.  ¼v½ ,d v.kqd ukfHkd Lusgh çfrLFkkiu vfHkfØ;k mnkgj.k lfgr crkb;sA   ¼1$2½ 

vFkok 



 ¼c½ f} v.kqd ukfHkd Lusgh çfrLFkkiu vfHkfØ;k mnkgj.k lfgr crkb;sA 

 

 (A) Explain a unimolecular nucleophillic substitution reaction with example. 

OR 

 (B) Explain a bimolecular nucleophyllic substitution reaction with example. 

15. dkj.k nhft, &            ¼1$1$1½ 

 ¼v½ Qhu‚y esa mifLFkr dkcZu& vkDlhtu ¼C&O½ vkcaèk yEckÃ esFksu‚y ls de gksrh gSA 

 ¼c½ ÃFkj esa mifLFkr C-O-C vkcaèk dks.k prq"Qydh; dks.k ls vfèkd gksrk gSA 

 ¼l½ leko;oh ,Ydksgyksa esa 'kk[ku ¼'kk[kk½ ds c<+us ij DoFkukad de gks tkrk gSA  

 Give reason  

 (A) The carbon oxygen bond ¼C&O½ length in phenol is shorter than in Methol . 

 (B)  C-O-C- Bond Angle in Ether is more than in tetrahedral Angle . 

 (C) In Isomeric Alcohols the Boiling point decreases as the branching increases . 

vFkok@OR 

dkj.k nhft, &  

 ¼v½ ,Fksu‚y dk DoFkukad esFk‚DlhesFksu ls vfèkd gksrk gSA 

 ¼c½ ,Fksu‚y vklkuh ls ty esa foys; gks tkrk gSA  

 ¼l½ Qhu‚y] ,Ydksgy dh rqyuk esa çcy vEy gksrk gSA  

Give reasons & 

  (A) Boiling Point of Ethanol is more than to MethoxyMethane 

 (B)  Ethanol is easily soluble in water. 

 (C) Phenol is strongest Acid in comparison to alcohol. 

 

 16.  ¼v½ fuEufyf[kr vfHkfØ;kvksa dks iwjk dhft, ,oa A rFkk B dks igpkfu, &   (1½+1½)  
 

C6 H5NO2       Sn/HCl                [A] NaNO2+ HCl          [B] 

  6 H              [B]  

¼c½ ,uhyhu dh vuquknh lajpuk,a cukbZ;sA 

 
Complete the following Reactions and Identify the A and B  
 
C6 H5NO2       Sn/HCl                [A] NaNO2+ HCl          [B] 

  6 H              [B]  

 
(B) Draw the Resonating structures of Aniline  

 

vFkok@OR 

,d ,sjksesfVd ;kSfxd *A* tyh; veksfu;k ds lkFk xje djus ij ;kSfxd *B* cukrk gS  



tks Br2 ,oa KOH ds lkFk xje djus ij v.kqlw= C6H7N okyk ;kSfxd 'C' cukrk gSA A, B, ,oa 

C ;kSfxdksa dh lajpuk ,oa buds IUPAC uke fy[kksA  

On heating an Aromatic compound  'A' with aqueous Ammonia 'B' compound is also formed which on    

heating with bromine and KOH forms a compound 'C' containing molecular formula C6H7N. Write IUPAC 

Name and draw structure of A, B and C . 

 

[k.M & n 

SECTION- D 

fucU/kkRed iz'u & ¼mÙkj lhek yxHkx 250 'kCn½ 

Essay Type Questions - (Answer limit about 250 words) 

 

17.  ¼v½ Ãèku lSy dk ukekafdr fp= cukvksA      (1+1½+1½) = 4  

 ¼c½ b±èku lSy esa bysDVªksMksa ij gksus okyh vkDlhdj.k ,oa vip;u 

      v)Z vfHkfØ;k,a fyf[k,A  
 

 ¼A½ Draw a Labelled diagram of a Fuel Cell.  

 (B)  Write the oxidation and Reduction Half cell reaction occurring at the electrodes of Fuel Cell  
 

vFkok@OR 

 ¼v½ la{kkj.k ,d oS|qr jklk;fud ifj?kVuk gSA le>kb;s \ 

 ¼c½ ekud gkbMªkstu bysDVªksM dk ukekafdr fp= cukb,A  

 

 ¼A½ Corrison is an electrochemical phenomenon- Explain it . 

 (B) Draw a labelled deagram of the standared hydrogen electrodes . 
 

 18 ¼v½            (2+2) = 4 

 2 CH3−CHO   dil NaOH X      Y 

                    -H2O 
mijksä vfHkfØ;k esa ¼X½ ,oa ¼Y½ ds jklk;fud lw= fy[kdj IUPAC uke fy[kksA 
 

¼c½ oksYQ fd'uj vip;u ij fVIi.kh fyf[k, \ 

 2 CH3−CHO   dil NaOH X      Y 

                          -H2O 
(A) In the above reaction, write the chemical formula of X and y and write IUPAC name of them . 
(B) Write short Notes on- Wolff Kishner Reduction Reaction . 

vFkok@OR  

 CH3−MgBr + CO2      'kq"dbZFkj  X H3
+O   Y 

          

¼v½ mijksä vfHkfØ;k vuqØe esa ¼X½ ,oa ¼Y½ ds jklk;fud lw= fy[kdj IUPAC uke fy[kks  

¼c½ Dyhesalu vip;u ij fVIi.kh fy[kksA  

 

 CH3−MgBr + CO2    Dry ether  X H3
+O   Y 

         

(A)  In the above reaction, write the chemical formula of (X) and (y) and also write IUPAC name of them  



(B) Write a note on clemmensen Reaction. 


